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KEIH (B) HBEHNEEs=LH+LE
AEESSPREEEE 340m/s
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(p7X =1.0x103kg/ m3)
KEXKZERERETHE m K =m ik p7K > pik viK <v ik
BE— 12X BARNRARE, FAEBRENAREE, BEANREX

FIOBREOEBDERVE=V R - VL

G=mg ((B% g BX 10N/kg, BERZZFFAS g BX 9.8N/kg)

BE—¥AGH=1/6Gitt mHA=m

Mo, T FERELN

F111 =F212 F1 /F2 =12/11
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h. HBEAN
It BEFEEAY F=1/2(G &0+ G #))s = 2h

BREHAT
AiHEBEFEREMN F=1/n(G 31+ G #))s=nh

t. FERN (BE
P=F/S E{RY¥EMAT F=G=mg

S WEREREAMAE m2Tm2=102dm2 =106mm?2

I\ BIKERAT
P=pgh
WIRIES AT F=PS=pghS

MR (IEFFER. KR, BiER) 2VER

o FARN
(1) Fi¥=F-F(EHLEZX)
(2) Fi#F=G-F (IE%)
(3) FiF=G (FZF. &F&)

(4) FIEXRFBRE: FiZF=GHi=pRgVH (HIKZX)
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W = FS {B¥{K 258 W = GhW = Pt

+—. EAR

P=W/tP = W/t=Fs/t=Fv (v=P/F)

+=. BANAR

EZEWEHB=GhKEWEH=FSWEH=WZ - WE

+=. BIAaR

WE=FSS=nhWR=WEH/NMWE= WHE+WE WE=PRt

0. HEERAT

n=WH/WRK n=PH/PR
(B H+n =G/Fn)
(1) n=G/ nF(BE5M)
(2) n=G/(G+ Gzl (BEFRRFITER)
(3) n=f/nF GKF5E)
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C7Kk=4.2x103J/(Kg-°C)
—. R

QM =Cm(t - t0) = CmAt F
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QL =Cm(t0 - t) = CmAt f%
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g=Q/m

M. IR FRIALERE
N = Q BEXFIA/Q Ik

h. AFESE

QM =Qk

N BAOFIRE
T=t+273K
. MEIRIRBEAR AT

QM =mq 8 QK = VqQUERTXASES)
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I=U/R

N, £EEE#
(1) Q=12Rt HEERT)

(2) Q=Ult=Pt=UQHE = U2t/R (BEAR)

f. EREREEER

(1) I=11=12

(2) U=U1+U2

(3) R=R1+R2

(4) W=UIt=Pt=UQ (BEEA)
(5) W=I2Rt=U2t/R (ZEEFELT)

(6) U1/U2=R1/R2 (B ERR)
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(7) P1/P2=R1/R2

7N FRERFERS

(1) I=11+12

(2) U=U1=U2

(3) 1/R=1/R1+1/R2 [ R=R1R2/(R1 + R2)]
(4) 11/12=R2/RUZFTRAT)

(5) P1/P2=R2/R1

+t. EEEHE
(1) 11/12=U1/U2
(2) P1/P2=112/122

(3) P1/P2=U12/U22

J\. BI
(1) W=Ult=Pt=UQ (ZEAR)

(2) W=I2Rt=U2t/R (ZEEELT)

L. BBIpE
(1) P=W/t=Ul (BFEXQR)

(2) P=12R=U2/R (HEHEAR)
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—. Y¢E: C=3x108m/s (EZHh)

—. BI&E: V=340m/s (15°C)

. AEX4EE: 20.1s

b, ENMEE: g=9.8N/kg~10N/kg

. fTREXSEE: 760 ZXKKEHES =1.01x105Pa

7~ KBEE: p=1.0x103kg/m3

t. KeEER: 0°C

J\. KEYFER: 100°C

Fu. KBRS C=4.2x103J/(kg-°C)

+. JTTHEF: e=1.6x10-19C
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+—. — T FEEE: 1.5V

T, —THEBEEE: 2V

= WFARNZLEBE: <36V (RA&F 36V)

TP, FAIEBEAIEBE: 380V

+H. REBIKBE 220V

TR BuUBE
(1) 1m/s=3.6km/h
(2) 1g/cm3=103kg/m3

(3) Tkw-h=3.6x106J



